
Zadania do samodzielnego rozwi¡zania

1. Niech

A =

[
1 2
2 3

]
, B =

[
2 4
1 3

]
.

Oblicz:

• A2 • AT ·B • A−1 • A−1 ·B

2. Niech

A =

 1 2 −1
0 1 3
4 1 −1

 , B =

 −2 1 0
1 1 −3
−2 −1 4

 , C =


1 −1 2 1
2 1 0 3
−1 3 −2 1
0 2 −1 0

 .

Oblicz:

• |A| • |B| • |A ·B| • |C|

3. Za pomoc¡ wzorów Cramera rozwi¡» ukªady równa«:

(a) 
2x+ 3y + 5z = −1
−x+ y − 2z = 1
x− 3y + 4z = 1

Odpowied¹: x = −3, y = 0, z = 1.

(b) 
x+ 2y − z = 1
2x− y + 2z = 5
−x+ z = 1

Odpowied¹: x = 1, y = 1, z = 2.

(c) 
x+ y + 2z = −5
−3x+ 2y − z = 10
2x− y − 3z = 5

Odpowied¹: x = −1, y = 2, z = −3.
(d) 

2x− 3y + z + 4t = 1
−x+ y − 2z − t = 3
−x− 2y − z + t = 4
−y + z + 2t = −1

Odpowied¹: x = 0, y = −1, z = −2, t = 0.

(e) 
x− y + z − t = −2
−x+ 2y + z = 0

3x− 3y − 2z − t = 0
2x+ y + z + 2t = −1

Odpowied¹: x = 2, y = 1, z = 0, t = 3.


